ép SHIMANO

*You may photocopy this sheet and use it as an order form.
*Sie kdénnen dieses Blatt kopieren und als Bestellformular verwenden.

* Vous pouvez photocopier cette feuille et I'utiliser comme bon de commande.
* Dit blad kan gecopieerd en als bestelformulier gebruikt worden.
* Potete fotocopiare questo foglio e usarlo come modulo di commissione.

FD -7400'5 FDrl.cJ);tAEf(;;i";;rand Type
FD -7400'F gﬁgi\aﬁglte;rrazed-on Type

Brazed-on Type

III\I]E)M PART NO. DESCRIPTION Q'TY
1 580 1700 Clamp Bolt (M5x14.4)
2 580 9803 Stroke Adjusting Plate & Screws (M4x14)
3 571 9004 Cable Fixing Plate & Bolt (M5x8.5)
4 583 7101 Chain Guide Fixing Screw
5 580 9804 Stroke Adjusting Plate & Screws (M4x14) for Brazed-on Type
6 587 6600 Clamp Bolt (M5x14.5) for Brazed-on Type
7 580 3100 Radius Washer for Brazed-on Type
3 580 3200 Brazed-on Bracket (SM-FD74)
9 580 3210 Brazed-on Bracket (SM-FD74-LW) Investment Cast

Printed in Japan 8809-949



